Simple Multiplication Practice

Name: Date:
Question 1
Solve the division equations
. 5-5= VI 9-2= Xl. 3-3=
Il. 9-8= VIIl. 8:7= Xll. 6:-5=
I.2-7= IX. 4-0= XIV. 8-3=
V.4-6= X 6-4= XV. 9-9=
V.3:1= X. 7-7=
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Simple Multiplication Practice

Question 2
Show the inverse operation (division) for each multiplication equation

l 8-6=48

Il 4-5=20

Il. 7-7=49

V. 3-4=12

V. 6-3=18
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Simple Multiplication Practice

Name: Key Date:
Question 1
Solve the division equations
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Simple Multiplication Practice

Question 2
Show the inverse operation (division) for each multiplication equation
|. 8 =

+8= OR +6=8
Il 4-5=

s4= OR +5=4
. 7-7=

+7= OR +7=7
V. 3-4=

+3= OR +4=3
V. 6:3=

+6= OR +3=6
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